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Multiple Choicegguestionc (13 queafions 3 points each)

1. Which of the fb!lbving numbe:e 19 invalid in FORTRAN?

0

+0.02
7,634.63
-.0632
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2. In the following ekpression, what is the mode of the answer when it is placed
in the memory register? J = C/D*+*]
a. integer oy
b. decimal
c. invalid, mixed. noda’ g
d. integer and decingy'“
e. none of the adee
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3. In the translation proces; equ ?QRERAR variable name is assigned to a(n)

a. job control commaﬂd ek 4
b. data field g ; ; e 15
c. operatinn code. B TR Aty
d. Bpecific mamorg$ragiﬂ$¢t

e. none of the abpve '*[;

4. The last statement of a FﬁRTl#N pro;ram must be

a. . a FINISH atatengnc ;»; i
b. a PRUGRAM atatqpent . 25
[ 3
d

. an’ END statement' 3 :
d. a STPP statement . . ¢ | er

5. Let I =2, M= 3 and K.-Fgﬁ;heufK/K#I woﬁld be evaluated as:
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